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16.1 | -0.3 | -1.2 | 0.2
6.7 | 41.3 | -0.4 | -0.5
6.8 | -0.5 | -1.5 | 0.1
1772 | 41.2 | -0.2 | 0.3
6.5 | +1.4 | 0.4 | -0.4
16,9 | #1.1 | 0.1 | 0.1
159 | +0.2 | -0.5 | -0.4
1770 | 41.8 | 0.5 | +0.2
146 | +0.8 | -0.0 | 0.6
157 | 40.3 | -0.4 | -0.2
155 | 411} -01 | 0.1
7.7 | -0.5 | -0.6 | -0.4
16.7 | -0.4 | -0.7 | 40.2
6.1 | -0.1 | -11 | -0.4
16.4 | +0.5 | -0.4 | -0.0
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1 cm
132 1 3,600 40 150

2 1 100 100
97 2 15,000 30 150
22 2 640 30 100
102 2 6,000 30 100
27 3 1,000 50 150
2 50 50 150
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Im 10m 20m
11 6 10 18.39 18.39 18.03
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